        Money Problems – Quiz 1a            Name _____________________
1. A coin collection of nickels and dimes amounts to $.90. There are 4 times as many nickels as there are dimes. How many coins of each kind are there?

2. In changing a $1 bill, Ted received 3 more dimes than quarters. How many quarters did he receive?

3. A cash drawer contains $138 in $1 and $5 bills. There are 6 more $5 bills than $1 bills. How many of each are there?

4. Jim had 11 coins in dimes and quarters. Their value was $1.70. How many of each did he have?

5. Maria has only quarters and nickels in her coin collection. She has 39 coins which total $5.15. How many are quarters and how many are nickels?
